SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| 460023
MATHEMATICS / 7Tfor

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3id : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

Which of the following is a rational number ?
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(A) 1+ 3 B = (O 243 D) 0

Fretferfion & 1 o Ger Tfda 37
(A) 1+3 B = (O 2 D) 0
1 1 1

If x3 + yg + z3=0 , then which one of the following expression is

correct :

111
(A) x3+y3+z3=0 (B)  x+y+z =3x3 .y3.23
(C) x+y+z=3xyz (D) x3+1y3+23 = 3xyz

r 1 1

g x3 + y3 + z3=0 , @ = ¥ ¥ I W =k TA 7

11
(A) x3+y3+z3=0 (B)  xt+y+z=3x3 .y3.283
©) x+y+z=3xyz (D) x3+y3+z3=3xyz

If (x—1) is a factor of p (x) =x2 + x+k, then the value of k is :

(A) 3 (B) 2 () -2 (D) 1
e (x—1) TEEp (X) =x2 +x+ kT PrREcE Rk F AT

(A) 3 (B) 2 () -2 (D) 1

The degree of polynomial 4x> —3x + §x3 is :

N | =

N | =
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> Measure of an angle which is supplement to itself is :

(A) 45° (B) 30° (C) 90° (D) 180°
107 ShT AT ST 379 ShT0T <kl YTk &I &, ¥ :

(A) 45° (B) 30° (C) 90° (D) 180°

6. In the figure below, it is given that AABD = ABAC. The criteria by which the
triangles are congruent is.

Di C
A B
(A) RHS (B) SAS (C) SSS (D) ASA

=1 smrerfa #, fean & 5 AABD = ABAC 1 39 fram =1 = fafa fags i s gafmem €1

D

A B
(A) RHS (B) SAS (C) Sss (D) ASA

The area of an equilateral triangle is 16 3 m”. Its perimeter (in metres) is :
(A) 12 (B) 48 (C) 24 (D) 306
fore THETE 19 &1 &t 16 3 m? ¥ 1 sueR uRem (Hed #) €

(A) 12 (B) 48 (C) 24 (D) 306

Area of an isosceles right triangle is 8 cm?. Its hypotenuse is :
(A) 32cm (B) 4cm (C) 43cm (D) 2J6cm

fereht THTEaTE TR 19[St o1 &T%el 8 cm’ & | He! Fi &

(A) /32cm (B) 4cm (C) 4J3cm (D) 2J6cm
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10.

11.

12,

13.

Section-B

Question numbers 9 to 14 carry two marks each.

Express with rational denominator.

1
i

1 . .
NP ! TRHT B AT Soleh & 9 H ek hifSTu |

Ifa+b+c=9, ab+bc+ca=26, find the value of a2+ b2+ 2,

g a+b+c=9 sk ab+bc+ca=26 7, d a2 + b2 + c2 =1 uH @ HfT |

What will be the value of quotient if (8x + 2y +2z)3 is divided by (4x+y +2z)3?

S (8x + 2y + 22)3 =l (4x +y +2)3 | 9 fe= S @ ATHSA h1 A A1 TS|

Does Euclid’s fifth postulate imply the existence of parallel lines ? Explain.

F1 IfereTs hi qiee! TR ¥ GHieR Y@nst & e o1 fHuftor g 82 feoof <)

In the given figure, the diagonal AC of a quadrilateral ABCD bisects the angles
A and C. Prove that AB=AD and CB=CD.

D C

A B

& T et ®, =g ABCD &1 fasst AC =i A den =601 C &1 gafganfed =4 €, @ fag Fifse fw
AB=AD iR CB=CD %!

D C

>
w

OR
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In the given figure, if OA, OB, OC and OD are the rays such that
£AOB= £COD=150°, ZBOC=30° and ZAOD=30°. Is it true that AOC and
BOD are straight lines ? Justify your answer.

B

150°
30°
C O >N 30° A
150°

A
Y

afg i OA, OB, OC aan OD sm R € ff ZLAOB= 2COD =150°, «BOC =30° e
ZAOD =30° %, @ =1 AOC den BOD @ Ya@r €7 &Rl gfed 3T 3w i gfte ifs |

% The perpendicular distance of a point from the x-axis is 2 units and the

perpendicular distance from the y-axis is 3 units. Write the co-ordinates of the
point if it lies in the :

(i) IQuadrant (i) II Quadrant

(iii) I Quadrant (iv) IV Quadrant

T forg &1 x— o141 9 Aifosh g 2 W § A9l y— 3§ 3HH! WAlferk g4 3 A 71 3 fag % Fewie
I e Afe 7% feora @

(i) weom =quta | (i) R =gt H

(iii) R =gty o (iv) =he =qatad
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15.

16.

17.

18.

19.

Section-C

Question numbers 15 to 24 carry three marks each.
Represent /10 on the number line.

J10 =1 Hem T w ey sifsa)

OR

Express 0.001 as a rational number in the form £ where p and q are
q

integers and q=0 .

0.001 =1 £ % %y % o wiforg sl p @en q qorfer € 9o q =0 ¥

q
If p = ﬁ ﬁ §+§ find p2+q2.
BB -2 B +2 2.2
afe p = N \/_@ﬁ'{ \/g_\/_%\”?ﬁp + q< @ HifSw

Factorise : 4(y2—1)2—15(y2—1) — 4.

TREve Ff: 4(y2—1)2-15@y2—1) — 4.

OR

If 2 is a zero of polynomial 4y2 — 6y —k, find the value of k. Also, find the other

Zero.

aﬁagqa4y2—6y—kwww2ﬁ,aﬁkwmaﬁﬁﬁm TE Y 1 HI

Factorise : (p— q)3 + (q— 1‘)3 + (r— P)3

oS #f : (p—q)3 + (q—1)3 + (r—p)3

In figure below, #B=45°, ~C=>55° and bisector of A meets BC at a point D.
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Find the values of #~ADB and ~ADC.

A

45° 559
D C

o~

smRfa ®, L B=45°, ,C=D55°qm A =1 gafgusis o1 BC @ fag D w faerar 81 £ ADB den

<2 ADC & 91 91d shifsa |
A
45° 55¢
B D C

OR
In the figure below, AB||CD and EF||DQ. Determine /PDQ, ZAED and £DEF.

20. In the given figure sides EF, FD and DE of a triangle DEF are produced in order forming

three exterior angles DFP, EDQ and FER respectively. Show that
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21.

22,

23.

ZDFP + ZEDQ + ZFER = 360° .

3t g2 ohfa # s DEF =i oensit EF, FD 3iR DE & U= € %49 | sieran 9l &, 59 @ afg=nior DFP,
EDQ aen FER WM 21d &1 <9isW % ZDFP + ZEDQ + /FER = 360° .

Q

D

j F
R

In the given figure, ABC is an isosceles triangle with AB=AC, D and E are the points on
BC such that BE=CD. Show that AD =AE.

A\ 4

A

B D E C

3 TRt sepfa o, wAfgeg AABCH AB=AC T fag D TR E 4ys1BC W39 ¥R ¢ f BE=CD %1
Tuiied fos AD = AE |

A

B D E C

Prove that angles opposite to equal sides of a triangle are equal.

fag FIfSY o T e & T yonsii & 9@ v 99 84 € |

In figure below, QT LPR, #TQR=60° and #SPR=40°. Find the values of x
and v.
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24.

25.

Q S R

The sides of a triangle are in the ratio 3 : 5 : 7 and it’s perimeter is 300 m. Find

its area.

e T3 ot qemeti w1 e 3 ¢ 5 ¢ 7, dun ufm 300 m T 1 S 1 &he 1 i |

Section-D

Question numbers 25 to 34 carry four marks each.

Find the rational numbers a and b in the following :

M=a+b\/§.
7+ 43

=1 9 9feg 9 a 91 b <1 99 I Sifee Se

M=a+b\/§.
7 +43

OR
7+3J5 7-35
— =a+ Bb
3+ 5 3— .5 a+ 5l

Find the values of a and b if :
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74365 7-35 _
v 5 5T =a++/5b & dadab & AH G HifST

26.  Express 1.32 +0.35 as a fraction in simplest form.

1.32 + 0.35 & TaqH fier & w9 ¥ fafan |

27. Verify that
3+ y3 + 20 —3xyz =%(x + vy + z2) [(x - y)2 +(y — z)2 +(z —x)z]
O+ y3 + 20 —3xyz =%(x + vy + z) [(x - y)2 +(y — z)2 +(z —x)z]
1 G™TI hifed |
28. Using factor theorem, find the value of a if (2x4 — ax3 +4x2 — x +2) is divisible
by (2x+1).
TOREE T 1 W g, a 1 AF 9 Ff arts (20 +1), (2xd —ax3 +4x2 — x +2)
TGS
29. ) \3 ) 7\3 5 7\3
xT = + -z +1z5 —x
Simplify ( d ) (y ) ( )

(x—y)3+(y—z)3+(z—x)3

(+* - y2)3 +(v* - 22)3 + (2 - x2)3

=l TS IS |
(x—y)3+(y—z)3 +(z — x)°
OR
Find the values of a and b so that (x+1) and (x—2) are factors of

(x3 +ax2+2x +b).

A (x + 1) qe (x — 2) 79 (x3 + ax? + 2x + b) F oEEve & @ a 79 b ¥ WA T@ FifAw)

30- (i) Plot the points A(—5, —2), B(1, —2), C(6, 4) and D(0, 4).

(ii) Join the points to get AB, BC, CD and DA. Name the figure so obtained.
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31.

32.

(i) s @ & fagelt A(—5, —2), B(1, —2), C(6, 4) @1 D(0, 4) %1 s Fifw

(ii) fogati = foemsd @fes AB, BC, CD @an DA 9 11 38 WehR sl 3T ol 19 o |

In the figure below, the sides AB and AC of AABC are produced to P and Q
respectively. The bisectors of ZPBC and ZQCB meet at O. Prove that
ZBOC = 90°— £A4.

=1 smefa 5, AABC &1 oot AB e AC &1 s fagsii P aen Q @ sigrn mn 1 LPBC qen
ZQCB & gufgyres fag O R wfa=se = €1 fag wifsg fF ZBOC = 90° — ZA/Z

Q is a point on side SR of APSR as shown in the figure below such

that PQ=PR. Show that PS > PQ.

P

S 0 R

APSR =t 951 SR W feerq foig Q = 39 ¥R & ff PQ=PR %, S fo

aTeRfa ® guitan T ¥ g9z fR PS > PQ #1
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3 In the figure below, PQ=QR and zZx = Zy. Prove that AR=PB.

34 If BE and CF are equal altitudes of a AABC, then prove that AABC is isosceles.

gfe BE 3ix CF fot st ABC % sRieR e &, df fag wifse fs AABC ts qHfgarg e €1
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